Solve the differential equation y” +y=-3sin2x. [106 51 [Fi#&f#H 27 1(b)]

[ EOTRERL - 202+ A=0=> AL -1)’=0=>1=0,1, 1
yh=C1+(Cz+ Csx)e*
Let yp=(Ax+B)e™>+ (Cx*+Dx) = yp' =[-Ax+ (A—B)]e*+ (2Cx+ D)
Yo" = [AX+ (=2A+B)]e7+ 2C = yp"' = [-AX+ (3A — B)]e™*
AR
[~AX+ (3A—B)Je*— 2 {[AX+ (~2A+B)]e*+2C } + {[-Ax+ (A—B)Je X+ (2Cx+ D)} =xe*+5
[~4AX+ (SA—4B)Je*+ 2Cx+ (D —4C) = xe*+5

—4A=1
8A—4B =0 1 1
= A=-—,B=-—,C=0,D=5
2C =0 4 2
D-4C=5

Y00 =Yy + ¥, =Cy + (s +CX" = (x4 e 45X
y' =[C,x+(C, +C,)le” +(%x+%)e‘X +5

y"=[C,x+(C, +2C,)le* - % xe ™™

ﬂm=2:>Q+C2—%:2

yﬂD=2:{Q+CQ+%+5=}3Cfﬁﬂ%:—%QQ=2

4
y"(0)=-1=C, +2C, =1
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11 1 1
By=84+4(——+=Xx)*—(—x+—-)e " +5x
Fy ( . ) (4 2)



